s = X

i
=
T

7K 3& FHKBM. 1
H=363. 886m S 2 7

i

ST. 38

& R LG
® @ &

KEE CHB)
— BB OKE

> 7 . %
= AT NS
Jsg.'@r/—/ ) 7
. .. -. -’/
. > A i . XCOREFA 29 XERTET B,
T v Wﬁ’ o
. .. : V’a S / ‘43’/'\ \2 ~, -
/ 2 % EFMETKEETER
P g S0 BT
2 / 7 e s SHTEEKEELS
iy A %, Vpggmi yo I ¥ 8| EBREHERCHES
“ o, Y/ s YA - ERETABEMANEKEBBTE
AL & 7
. - Vv@/ & > * 35,
. 2 N 7\ ‘76 =
S5 ) : EEOEE T m\
< y 4 Ve
S A # R| BEx | DEES 17
Ny 2 A , = u
%, .‘Ju’\
o \ ZEES




At

X (1/2)

S=1:100

ax/KEEXR EL=362.13

BEER/KEE ¢ 150 DP=600
FERIKESE ¢ 150 DP=600

DL=355. 000
\\
w-n
4.50
1.40 3.10 Q
HER/KEER EL=362. 28
E
[ | L
00 O
\\
BEE%KEE ¢ 150 DP=600 ~—_
;EEKEE DIP ¢ 150 DP=600
XZOHEIZA 2 A XERTET 5,
B H ETKEE XS
SMTEEKBEIS
I = & | ARBHEECHES
DL=355. 000 EMET A A MNERKEBRTE

REOESE ¥ BT m (1/2)

e R Bl ME&ES 2/7

ZEED




At R

DL=355. 000

DL=355. 000

X (2/2)

S=1:100

BEER/K:EE ¢ 150 DP=600

#EX/KEE DIP ¢ 150 DP=600

BRER/KEE ¢ 150 DP=600

#EX/KEE DIP ¢ 150 DP=600

XIOREIZA2YA XEZRTET S,

EFWMLETKEEFZER

THTEEKESE2S
T = & | ERERBEICHES
ERHETREBBAMRNEKERRIE

DWCTHEESTEEI S L

(1

REOESE ¥ BT m (2/2)

e R Bl ME&ES 3/7

ZEED




=JL = 5\(

aX a
|_l_| 9,
GX & 150 + T F
S=1:20
600 |
‘ EHE
BEERASEHE(FIE R FTEICTHUEL
B - RBEERITEICCHT (BEXGBETEOET L) 600
8imiii T a
o - B
_ |
o | — |
| 8 - A
‘DIPqHSd @\ | S } @ \o
O E
N = @\ | S
\ 2
EHFT—T 1B L — b o =1
RYRY—7J <—Hh—
R | BR R —
RIE | 1R
$150
T Y a b c d 50
600 720 130 370 600 Ty a b o d
600 550 130 370 600
GX @ 150 B ERE
900
600
- o
Lcyﬁ o
B—F—1 | =
=1 [ o
. Ik | |
] @ of | N
150 .
EE ] o) - ‘
| &5 |
1 NI
” @ - - - BERE (RC-40)
RIE | BR .
@)\ g — @- - - EERAY (ER LAY
C \ = MCOREIFA 294 XERTET B,
$150 ) .
Y a b c d EFHmLETKEEER
600 550 130 640 770 — —
e 800 750 130 840 970 ?“*”mr;’k%_%‘?’?
e FRIE | BER 500 520 o 0 T £ % | BREBESEICES
KURY—T EREE— b 1070 £ REA A AR KEBRTE
X—h—
¢ 150 HE DiELE T T F R
T#H,Y a b c d e
1500 1620 130 1270 1500 500 = R = EES 7
i ~ =
ERREICOVWTEEESTEET D L] ghuus




BB

T B8 I & # X

(BEERIAMERADIES)

=
(3]

HEHD

T &
S=1/20
4000 4000 4000
750 750 750 750
7ILI RS L#
BN BN / N BN
S I O R N
. . . .
\\@ﬁawa& YIREY R— b
2500 1500 2500 1500 2500
e
BRI ELE XA TERHR
S=1/5 HE Bl = ARE |XGRIBEH
(m) (m) (E%)
2 g 355
" 1.5<H=<1.8| 2.0 1
AE 333 ‘
8<H=20| 2.5 i
J M 20<H=<23| 2.5 2
2.3<HZ2.8 3.0 2
2.8<H=<3.3| 3.5 2
3.3<H=<3.5| 4.0 2
3.5<HZ3.8 4.0 3

Wr
$=1/20
UEREE L

oo
S

500

ISR LM

YRAYH— b

T
%
. ph
=
o
b=
BEHRiR
S
YR HITE
(& #)

XIOE@AEIZA2Y A XERTET S,

EFHETKEEFZER

SHTEEKEELS
I F & | EREHEELCHS
EREADEHNERKEBRIS
REDELE T8 IREN
(BELEXEMEADSE)
# R| HEF REES 5/1

ZEESL




i B

S
= = //
. B & & 1/2 :
AEBE-:TE%H] E niﬁﬂ. ( / ) // / /
1:100 /
/
57
S BREREES S UM T (¢ 150) -2 /R - o
= AR N EEE o BRE (¢ 150X 22° 1/2) X5 (R—H—1%) e
el JEL= H R LB - S G-l ink (150 u
S EL=362. 28 O/sez.m EL=362. 28 $o S ink (¢ 150) 54+ (6 150] Gxfp_3 // -
. - _ - B E1% (¢ 150) GXH5-1800 . <
EL=361. 38 EL=361. 38 L OMmT (¢150)GXT % ; 2,
TZEhE (P 150 x 45° ) GX (R—H —1K) & (¢ 150x22° 1/2)GXH )
BHE (¢ 150 x 45° ) GXFig (R —H—1%) = 747 ($150) GX#Z -39 < g ¢
8 L 00T (¢ 150) 6Xs # L 0T (4150) X B (¢ 150) GK-1 % L
Z 1% (¢ 150) 6X#5-1070 Z 4% (¢ 150) GXH-1070 B (¢ 150 x 5° 5/8)GXﬁ2(7—ﬁ—*ﬁ$)%® : e,
o i LOADT (6150 GX B (¢ 150 x45° ) GXFg (R—H—1%) 515 ($150) 6X-39 7 \
s E (b 150 x45° ) GXHE (R —H—1XK) % L 00T (6 150) X K KB, 1 B (¢ 150) Gxﬁ;_2509 g
Z 4% (¢ 150) GXH2-2000 H=363. 886m & L OMT (¢ 150) GXF 4
BER
Q@Q/
// N
4 AL g
B (¢150) GXB-2& %,
XK led
/) ; 2
RY)E (¢150) 6XA-1500 7 / DN
/ ) 360 N N
#5 (6 150) GXFZ-240 Z KN
G-Tink (¢ 150) -2{& °
Q AN
/
@ 4
i A
y O3\ e étﬂ"‘é ;]( ¢ 1?0) GXﬁ)z—1 000
L AT (¢ 150) GXFo EEEHX
- B (¢ 150 % 22° 1/2) 6K (R—H—1%) S B”B"#ﬂﬂwo
v 54 ¥ (¢ 150) GXZ-39 /\%,e :
B 1% (¢ 150) GXA-2170 L2 I
g R &L OMT (¢150)GXHE o 362 73
Shih s ° 2 Ty B RSB T = = o
// Gﬁ‘—ﬁﬁrﬁf (E¢(1¢g(1»50 x22° 1/2) G//X:} S o'$ EL=362. 13 D//%%FE@EIJEEE EL=362. 13 $o_ o
S0 45K HIG T ($ 150) —2 85 7 - -
EE AT (150 -2 EL=361. 23 EL=361. 23
e 54)7‘(¢1(50)GX1T2—39 T2 (¢ 150 x 45° ) GXfis (X —H —1%)
= (150 45° ) GXE (R —H—15) & L 0T (¢ 150) GXFs
ay, ?f L;qu mT ()tb 150) GXftz Z81% (¢ 150) GXJz-1070
y ZH1% (¢ 150) GXHz-1070
& L 00T (¢ 150) GXF = o Y (o —
Z ) R (6150 X 455 ) G (5 — B — 1) TS (¢ 150 x 45° ) GXFis (X —H— 1K)
AR ESRE UM T (¢ 150) 26 Fr ° N\ #wLOMT (¢ 150)GXHEZ
BHE (@ 150 X 45° )XY (R—h—1 %) : e : Z 5% (¢ 150) GXF2-2000
G- 1ink (6 150) // HT2
I (150 x 45° ) GXFg (R—H—1%) e :
FAT=E (¢ 150 x 75) GX#tz & ffz{#mw .
B & (¢ 150 x45° ) 6K (R—H—1%) N P
B (¢ 150 x 45° ) GXfis (R —H —14) g KEE ()
54 F (¢ 150) GXTB-39 = / A E—— Bk B
B (¢ 150) GXAZ-1000 “ AED
%&iﬁ(¢150)GXﬁ2_240 J &@r\;\ ° X:o)ﬁ'iA 2&4?%%#&’3—60
G-I ink (¢ 150) -2/& u ‘ . .
_BBREBE YT (6150) 28 \ EWMLETKEEFTER
TWKAEY) 5 (6 150) S5 B R (£ /Sy X8 S v N
- FHMTEEKEBE2S
,? g 0 /4 N %&,@ T £ & | ERBHBEICHES
/ N /8 SN / R — BT ERBTAMEMNEKEBHTS
° ) g S . ° BT52(675%x50)
/ \ / Pj— /““\ =3
a FH TV Y bk ($50)-218 % sy g
// D / % PP($50) L=1.3m RmEnDiELE ﬁﬂ B nijf\m. (1/2)
N/ & "5 PTILR (¢ 50)
= ] st (6 50) 1 R B HEEE 6/7
c e £RA/NLT VY b ($50)-118 L o " il /
. VP(50) L=4.0m BMESICOVTHEES TEEI DL guune
— 7/ VP LR (¢ 50) -4& >




% i K

s =3 v
Bo'E sF ] (2/2) e
$=1:200
ey
7
° q
'// s Lo, g 5 %3 5, s
.", - / -
1l : — ~ X
N (g
BESRESS BT ($150) 26T | = —
/ xﬁ/ﬁ% E/Wpﬁ. Z /O/ —
HiE (¢ 1560 x45° ) GXfiE (R—H—1%K) ’ = - %
G-1ink (¢ 150) ~ — — "
B (@150 x45° ) GXRE (R —H— 1) _ — —
B (¢ 150 x45° )6k (v —A—1R)¢ _ ///
BE (¢ 150 x 45° ) GXFs (R—H—1 &) o —— _ ///
&L OMT (¢150) GXfZ/ — : N //
Z 9% ($ 150) GXFiz-1000 8T -
W // /
ol > X z —
5 (6 150) GXFH-240 g — O\ % =
G-1ink (¢ 150) —2{A o \a— - G~
W ®3-2
BESR S5 8% S U1 T (& 150) - 28R \ A\ -
RAREART ¢ 100 2B CHB | N . H=361.815m , o
BEEX S5 SXE VI T (¢ 150) -2 7 <« R\ o b
# L 0T (& 150) GXF th oW . w?
_——_ Z41%E (¢ 150)GXRZ-3000 ) \
W E % (¢ 150 x45° ) X (R —H—1&) % VA °
_ ] ° O
# L OMT (¢150)GXF )
Z 9% (& 150) 6XT—2440 7wt~ & it LA
- i w & A R
M EE ($150x45° ) GX (R —H—1%) _ - ) / .
G-1ink (¢ 150) // 2 ° . // KEE (HFB)
BRERSEE UM T (4 150) 28 g - gt 19 =7 N - ° — BE 5%k &
] = \ B (S150x T1° 1/4) GXE— o © ) o
% 4 G-1ink (¢ 150) ~ 2 55 2y =3 =
e P / /o///// Cnl-‘ﬁi%m
— S 4+ ($150) GXfp 3927 %, 1100
_— “%\.BQ’ ° IE%: (¢ 1 50) GXﬁ2—1 2'5/ ";
e ~ \ S
< s 5% BAERES S
o = / /////// s c ?6?79
Z HEEELIEES S
ar 8 (8 150) GXfp-240 _ o &I vEL=361.19 S T GEL=36119 (o | o
g ~ # L O (¢ 150) GXHz = = -
< g B 4% (¢ 150) GXA-2000 = | EL=360. 29 EL=360. 29
- /// o gl
g 7 = MEGE(S150x 45 ) B (Z—Ji—14) TR % (6150 x 45° ) GXFg (R —H— 1)
g & _ // \@ ELOMI (¢ 150)GXHE
s _Z 9 ZY1% (¢ 150) 6X#2-1070 # L 00T (o 150) GXF
o \ _Z g % # L O (6 150) GXfz Z 1% ($150) GXFz-1070
TS = 2 ., TR H % (150 X 45° ) GXp (R— A — 1)
P / _ "5 # L O0T (¢ 150) GXZ B (¢ 150 x 45° ) GXfS (R — A —15)
73 // X 5 4 F (¢ 150) GXFz-39
~ _ B 51 (& 150) GXFz-1500
/ /\ ///
/ P ///
/ / \ /// g
P _Z XIOHR@EIFA2H A XZRTET B,
7 / . 2H LT AKESZ PR
/Z 2, FHMTEEKEBE2S
s .003 T £ & | ERBHEEICES
/ 5, ERETAREMNEKEBRTE
~ =3
REDiELE BoE R (2/2)
& R BR HEES 7/
= \ = - -
7 E*ﬁnilﬁ]‘vj{t —C‘igglﬂr EIE-d-éh& SEEL




